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I. 

 8 × 1 = 8 

1. A B n ( A ) = 37,  n ( B ) = 26   

 n ( A   B ) = 51   n ( A   B )  

 (A) 12 

 (B) 63 

 (C) 14 

 (D) 25 
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 (D) 4 

3.  

 (A) 

 (B)  

 (C) 

 (D)  



CCE RR  3 81-K 

  RR(B)-30009  [ Turn over 

4. f ( x ) =  61132 23  xxx  f ( – 1 )  

 (A) 0 

 (B) – 10 

 (C) – 18 

 (D) 18 

5.  ABC    = 90º,  BD  AC,  BD = 8 AD = 4 

CD  

 

 (A) 16 

 (B) 4  

 (C) 64 

 (D) 12  
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6.  
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 (A) sec  

 (B) cot  

 (C) tan  

 (D) cosec  

7. ( 2, 3 )  ( 4, 7 ) 

 

 (A) ( – 3,  – 5 ) 

 (B) ( 1,  2 ) 

 (C) ( 3,  5 ) 

 (D) ( 6,  10 ) 

8. ‘r ’ 

 

 (A)  2r  

 (B) 2 2r  

 (C) 3 2r  

 (D) 4 2r  
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